
DOS	
  TRANSISTORES	
  

AMPLIFICADOR	
  CON	
  UN	
  TRANSISTOR	
  NPN	
  Y	
  OTRO	
  PNP.	
  

a)	
  Polarización.	
  	
  β 	
  =	
  100	
  y	
  Vbe	
  0	
  0,7V.	
  



En	
  primer	
  lugar	
  se	
  calcula	
  el	
  Thevenin	
  equivalente	
  del	
  circuito	
  de	
  base	
  
de	
  Q1	
  y	
  todas	
  las	
  variables	
  relacionadas	
  

	
  



En	
  Q1	
  hay	
  que	
  tener	
  en	
  cuenta	
  que	
  por	
  RC1	
  no	
  circula	
  IC1	
  sino	
  IC1-­‐IB2	
  
Las	
  ecuaciones	
  que	
  se	
  pueden	
  escribir	
  ahora	
  son:	
  

	
  

	
  
	
  

	
  
	
  

	
  
	
  

	
  
	
  

	
  
	
  

€ 

IE2 2kΩ−
5kΩ
101

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ =1,28mAx5kΩ− 0,7V = 5,7V

€ 

IE2 = 2,78mA

€ 

IB2 =
2,78mA
101

= 0,0275mA

€ 

IRC1 = IC1 − IB2 =1,252mA

€ 

VC1 =15V − 5kΩx1,252mA = 8,74V

€ 

VE2 = 8,74V + 0,7 = 9,44V

€ 

IC2 = βIB2 =100x0,0275 = 2,75mA

€ 

VC2 = 2,7kΩxIC2 = 7,43V

€ 

15V = 2kΩxIE 2 +VEB +VC1

€ 

VC1 =15V − IC1 − IB2( )x5kΩ

€ 

15V = 2kΩxIE 2 + 0,7V +15V − IC1 −
IE 2
101

⎛ 

⎝ 
⎜ 

⎞ 

⎠ 
⎟ x5kΩ



En	
   la	
   gráfica	
   están	
   todos	
   los	
   voltajes	
   y	
   corrientes,	
   incluyendo	
   las	
  
corrientes	
   que	
   circulan	
   por	
   las	
   resistencias	
   del	
   circuito	
   de	
   base	
   del	
  
primer	
  transistor.	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  



b)	
  Análisis	
  de	
  pequeña	
  señal	
  



Análisis	
  AC	
  usando	
  el	
  modelo	
  π	
  

	
  
Reflejando	
  las	
  resistencias	
  de	
  emisor	
  hacia	
  las	
  bases	
  



Al	
  calcular	
  valores:	
  

	
  
	
  
	
  



Resultados:	
  	
  	
  	
  	
  	
  	
  
	
  

	
  
	
  
	
  

	
  

	
  



	
  PROBLEMA	
  1	
  
	
  
Para	
  el	
  circuito	
  mostrado,	
  calcule	
  ID	
  y	
  VDS.	
  

	
  
	
  
|Vth|	
  =	
  3,4V	
  
	
  
k	
  =	
  20mA/V2	
  
	
  
	
  



	
  
	
  





	
  
	
  
	
  



	
  PROBLEMA	
  2	
  
	
  

	
  
Vth	
  =	
  1V	
  
	
  
K	
  =	
  0,5	
  mA/V2	
  
	
  
Hallar	
  V4	
  y	
  V5	
  
	
  
	
  

	
  
	
  

	
  
	
  



	
  
	
  

	
  
	
  

	
  



PROBLEMA	
  3	
  
	
  

	
  
	
  

	
  
	
  

	
  
	
  

	
  
	
  

	
  
	
  

	
  



	
  
	
  

	
  
	
  

	
  
	
  

	
  



	
  
	
  

	
  



	
  



	
  



	
  



	
  
	
  

	
  



	
  

	
  



PAR	
  DARLINGTON	
  CON	
  DOS	
  BJT	
  
	
  
*	
  Está	
   constituido	
   por	
   dos	
   etapas	
  
seguidores	
  de	
  emisor.	
  
*	
  Alta	
  impedancia	
  de	
  entrada	
  
*	
  Efecto	
  multiplicativo	
  sobre	
  la	
  corriente	
  
	
  
Análisis	
  en	
  DC	
  

	
  
	
  

	
  

	
  
	
  



Cálculo	
  de	
  la	
  corriente	
  de	
  colector	
  total:	
  
IE2	
  =	
  (β2 + 1) ΙΒ2        ΙΒ2 =   ΙΕ1 = (β1 + 1) ΙΒ1     

 
 

 

 
 

Este	
  es	
  el	
  efecto	
  multiplicativo	
  de	
  la	
  corriente	
  
	
  
Análisis	
  AC	
  con	
  el	
  modelo	
  de	
  parámetros	
  híbridos	
  

	
  
	
  
	
  	
  



Cálculo	
  de	
  la	
  ganancia	
  de	
  voltaje	
  
	
  
	
  
	
  

	
  
	
  
	
  

	
  
	
  

	
  
	
  

	
  
	
  



Cálculo	
  de	
  la	
  impedancia	
  de	
  entrada.	
  	
  	
  De	
  las	
  ecuaciones:	
  
	
  
	
  

	
  
	
  
	
  
	
  

Tiene	
  un	
  valor	
  elevado	
  si	
  	
  
	
  
Cálculo	
  de	
  la	
  ganancia	
  de	
  corriente	
  

	
  

	
  
	
  

	
  


